wodaurjuonadiur mmam/sdiy

https://www.mjpruonline.com

Total No. of Questions : 5] [Total No, of Printed Pages : 16

Paper Code : 12514

2521
B.Com. (Part III) Examination, 2020
(Three-year Degree Course)
(New Course)
(Group-A)

Paper-I

CORPORATE ACCOUNTING

Time : 3 Hours ] [ Maximum Marks : 100

Note :— Attempt all Sections as directed.
Fidurgar @t @vel F IW e
Section-A
(TUs-3)
Long Answer Type Questions
(& I wv)
Note — Solve all the three questions.
gt @ W T w9

I. Authorised share capital of N Ltd. is 25,000 equity
shares of T 100 each. Company has issued a
prospectus only for 10,000 shares to invite subscription
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for public at 10% premium. Applications were recejveq
for 13,000 shares. The directors decided to return the
application money of 500 shares and allotment

procedure performed on 10,000 equity shares against
12,500 applications.

Mr. Krishna who applied for 2,500 shares paid only
application money. His shares were forfeited after
first call. Mrs, Radha who has 500 shares paid only
application and allotment money. Her shares were
forfeited after final call. Above forfeited 2,000 shares
of Mr. Krishna were reissued to Mr. Kailash at ¥ 80
per share fully paid. Company called on application

% 25, on allotment ¥ 50 (including ¥ 10 premium),

T20 on first call and ¥ 15 on final call. Pass
necessary journal entries.

T A *t sifuga ofw 57 25,000 stw v@F 7 100
H ¥ FEA X 10,000 W T F 10% G W
frifira fa 13,000ﬁ$ﬁ$ﬁqaﬁa=rﬁmgm
HE@Rl 3 500 9 # ufr o = freww fE
I9 12,500 W H smaEH H 10000 i w
SIGRITEIE cre i Tato

gt oo f9=m 2,500 o9l & fau smEeR fFEa oo
AT & A T D A A S| IR A=A B
<R 3fEd wEEE w il w W= fewm o
T 5 9w 500 o 9, daw A @ AEeA
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= i & e o fidm g $ oA o R
TG e ¥ e fpw Tg SR A # o F w2000
siv ot dem ) gl FRT SRR T 80 WOIE
Sy @ o grae fEan FEA 3 SRR W T 25,
e W T 50 (3 10 wears Wfew), 99 A W
720 wa fdtg Aem W T 15 AW g1 e
o wfafeal Fi
Or

(31erE)
The assets of S Ltd. include fixed assets ¥ 90,000
and current assets T 10,000. Its creditors are T ED,F}DU
and its paid up capital is T 1,00,000. T Ltd. acquired
its business for ¥ 85,000 and allotted 8,000 shares of
F 10 each fully paid and paid T 50,000 cash as

. . < the
purchase consideration. Give journal entries In

books of both companics. Liquidation expense.s of S
Ltd. were ¥ 5,000. (Assume amalgamation 1in the

nature of merger). )

f. it geafedl A st wEfEEl T 90,000 FE Sl
zsqmﬁﬂ‘i' 7 10,000 Tffea € Tg& oMer ¥ 20,000
%ﬁruaﬁt‘ff&ﬂz‘l,m,ﬁﬂﬂ%u T f&. %@%mﬁm
aﬁ?ss,ﬂﬂﬂﬁmmsﬁtwuﬁwﬁ_%lﬂaﬁ
somzvfﬁa#mawr#s,anuwaﬁmuaﬁrmﬁﬁ
A e A oria o @ S fa B wEE @
Z 5,000 gCI (Wnﬁqqaﬁaﬂmfﬂwaﬁggﬁrw
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2. The Balance Sheet of Alok Ltd. and Rahul Ltd. ag
at 31st March, 2016 were as follows :

Particulars Alok | Rahul
Ltd. Ltd.
I Equity and Liabilities
1. Shareholders fund :
(a) Share capital : shares of
T 100 each 5,00,000 |2,00,000
(b) Reserves and surplus :
Reserve 1-4-15 50,000 | 30,000
Surplus of P & L A/c| 40,000 | 20,000
2.  Current Liabilities :
(a) Trade Payable :
Sundry creditors 65,000 45,000
Bilis Payable — 15,000
Total | 6,55,000 |3,10,000
I Assets
I. Non-current Assets :
(a) Fixed assets : Machinery |3,00,000 2,00,000
(b) Investments 1,40,000 | 20,000

woo dutjuonidiur maam/sdiy

Turn Qver

S-221 (s) S-221 (4)

https://www.mjpruonline.com https:/iwww.mjpruonline.com



wodaurjuonadiur mmam/sdiy

2.  Current Assets :
(a) Inventories : Stock "11,05,000 | 30,000
(b) Trade Receivable : 80,000 | 50,000
Debtors
(c) Cash and Cash equivalent :
Cash at Bank 30,000 | 10,000
Total |6,55,000 (3,10,000

https://www.mjpruonline.com

Other Informations :

0

(if)

(iii)

@(v)

Alok Ltd. acquired 1,200 shares of T 100 each
in Rahu! Ltd. on 30th June, 2015 at a cost of
T 1,40,000.

The Profit and Loss statement of Rahul Ltd.
showed a deficit balance of Z 12,000 on Ist
April, 2015.

Debtors of Alok Ltd. include ¥ 25,000 due
from Rahul Ltd. while creditors of Rahul Ltd.
included ¥ 20,000 due to Alok Ltd; as a draft
of Z 5.000 sent by Rahul Ltd. on 28th March,

2016 was not received by Alok Ltd.

The stock of Rahul Ltd. includes goods valued
% 6,000 purchased from Alok Ltd. which was

1
sold by latter company at a profit of 33 §% on

cost.

Prepare consolidated balance sheet.
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o 1 31 W, 2016 # fagy

faemor e
&, f&,
1w G e
1. YeRuwE =7 4y
(@ sl w@% T 100 @@ {500,000 |2,00.000
by w=g T sufiey
e [-4-15 50,000 | 30,000
SHEES I
TR & 40,000 | 20,000
e S
(@) T =R :
fafay s =R 65,000 [ 45,000
) faret — | 15,000
Fd  |6,55,000 |3,10,000
0 g=fwEr
-] et
(a) wrt wmfy : wefed 3,00,000 |2.00,000
(b) fafrm 1,40,000 | 20,000
S-221 (6)
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2. St

fa) 'ﬁﬁjl [ o4 : i

(b) WA HER : SRR 80,000 | 50,000

(c) THg W &g wAdH :

Fx F 952 30,000 | 10,000

1,05,000 | 30,000

Fa  |6,55,000 |3,10,000

HA Wﬂ : .
() o fa 3 Tga fa @ 1,200 A TIAH
7 100 %1 30 S, 2015 1 T 1,40,000 Ealc UG

o Y Ul
Gi) 1 o, 2015 = TEA fo1. = eny-wf faaxo
£ 12,000 %1 HH I @R vl

- sl fa. @ e # ¥ 25000 g . @
{tll)mm%m@ﬁ'$Wﬁ
% 20,000 aehw fo. W A WS § T

7 5,000 &1 YR TEA A 3 28 T, 2016 =
dom o S enh eneE fH. W OW@ TE EA

(iv) ngﬂﬁa.ﬁe‘ﬁﬁ?ﬁ,ﬂﬂammﬁmﬁa
ﬂwﬁmgmaﬁ%ﬂ%ﬁﬁaﬁmﬁﬁm

I @ W 33%% @Y A Al
wgaa fagr daR S
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Or
(3reram)

What is meant by reconstruction of a company ?
What accounting record is made in the books of the
companies at the time of internal reconstruction ?
external and  internal

Distinguish  between

reconstruction of a company.

wurt & g ¥ P A § 2 R ERE
& T Bt B T A T B 1 o) fRu
TR € ? St B oww qwn ST qErErT ¥ e
I HifeT |

. The following particulars are available in relation to

a company :

(i) Capital 450, 6% preference snhaies of ¥ 100
each fully paid. 4.500 equity shares of ¥ 10
each fully paid.

(i) External liabilities ¥ 7,500.
(i) Reserve and surplus ¥ 3,500.
(iv) The average normal profit € 8,505.

(v) Transfer to general reserve ¥ 855.
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(vi) The normal orofit earned on the market value
of equity shares fully paid of the same type of
zompanies is 9%.

Calculate the fair value of shares assuming that out
of the assets worth ¥ 350 are fictitious.

w FEE B oA 3 Ffafen faamn s ¥

() Usit 450, 6% TEIfHRER 3F T 100 A YU |
4,500 T9@ 3w ¥ 10 @@ QoREH
(i) = Tfaa ¥ 7,5001
(iii) ¥=9a wd sniyem T 3,500
(iv) "m= sfaa @ T 8,505
(v} T =g A e ¥ 8551
(vi) T WFR ® HAfFE @ qUikw @war e @
IR qed W GEET @M HT ST 9% F
T% AMBT TR FEE! 6 wma wefad d§ T 350 &6
I &7 geradl qfinfea ¥, WA % SN W
T (3fFm) qeasa &g
Or
(3t

Define Goodwill. How does it arise ? Discuss main
factors affecting its value.

wfy &t aftmn e o% 59 TeR 3w B 2
TP eI F IEad $W I §E9 HRE T0RT|
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Section-B

(T@us-=)

Short Answer Type (Juestions 6 each

(7Y ST UI)

4. Attempt any five questions in not more than

100 words each.

&=l arer Wl % W yew fuman 100 vt d

i '

(1)  Sahai Ltd. acquired machinery for ¥ 2,40,000
and issued 25,000 shares of T 10 each to the
vendor in full payment. Give journal entries.
we fa 3 ¥ 240,000 % I F fEu o
foshar Y gof spar | 25,000 wWal 9 T 10
Tt frifm fee) sFe o@ i

(i) ~Raghav Ltd. has issued 8,000, 10% redeemable
preference shares of T 100 each, ¥ 80 per share
paid and redeemable at a premium of ¥ 20.
The balance of general reserve is ¥ 8,00,000
and surplus of profit and loss is ¥ 2,00,000 of
company. Show journal entries in the books of

the company.
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I -
=

7100 s 8,000, 10% whuET
TUER &g Tifaa T @ 7, o1 9 T 30 WA
AN g9 o wg ¥ 20 ufE oW v= W weEE
B ®PME ® W 999 A ©O8,00,000 §
Y-8 &1 emasg o T 2.00,000 1 99 T
HE T YRR T UMY Wl Hiareal S )
What are convertable debentures ?
ufEdta o =1 8 ?
A company issued 4,000, 9% debentures of
¥ 100 each on Isi April at ¥ 105. The
debenture-holders had the option of converting
debentures into 10% preference shares of ¥ 100
each at ¥ 125 within one year.

At the end of the first vear, interest on
debentures was outstanding. Holders of 200
debentures decided to take advantage of the
option. Give journal entries.

oF HHAE 3 T 100 9 4,000, 9% FOTTH
1 s = T 105 &t @€ § frifga e
HoEufE F 98 ey w1 5 3 1 = F
3T AT WO H T 100 I 10% qEifHER
aiElt H ¥ 125 & wa W yfEfdd sU g5d ¥

YA 5 % 3 § BT B A SR 911 200
FUTE Ui A fomes § @ S8 g
FEt F S osHa # we s
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Average capital employed in a business g
X 8,00,000. Its profit for the last five years are
¥ 88,000, 95,000, 1,20,000, 1,02,000 and
1,12,000 respectively. The profits include
< 3,000 per annum non-business income, If the
reasonable rate of return is 10%, calculate the

value of goodwill at three years purchase of
superprofits,

TF = A s fafrifea 5t 2 8,00,000
%lmmﬁaﬁ?%mm:?%,ooﬁ,
95,000, 1,20,000, 1,02,000 @@ T 1,12,000 ¥
andl 7 T 3,000 AfE -=aafys s whinke
¥ ARk o W) st ) 10% B, @ stfuemdt @
98 & 9 & YR W e w9 3
Fifsma)

Explain non-current liabilities and current
liabilities.

F-=rg Tfom 7 =K TfaE w1 wEEET)

(vii) What is pro rata allotment ?

AAUITaF e F ¥ ?

(viii) Why is it necessary to valua the shares ?

el W TS W STAEE € 7
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Section—-C

(|uE-w)

Objective Type Questions 2 each

(g ug)

5. Attempt all objective type questions.

Tt agi= uE @ S g

®

S-221

If a company issues equity shares of ¥ 1,00,000
at a premium of 10%, how much money can

be used to redeem the preference shares ? '
(@) ¥ 1,00,000

®) T 1,10,000

€y T 90,000

(d) ¥ 80,000

I wH w4 T 1,00,000 F wHAT S H
frma 10% weafs @ foen &, @ forest ofer ==
ITE AR A9l ® wed H a2

(=1) ¥ 1,00,000

(=) ¥ 1,10,000

(|) T 90,000

() T 80,000
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The value of Goodwill is highest :
(@) Dog goodwill

(b) Cat goodwil}

(€} Rat goodwill

(d) Rabbit goodwill

BREEE e I IR
(3N TN & www B/ =l

(F) fo=tt & @ ot =nf

(M) ° = =y = =fy

(@) W & @ 7 =y

A holding company has been defined by the
Companies Act, 1956 in :

(a) Sec. 2 (b) Sec. 3
(c) Sec. 4 (d) Sec. 5

T IR e R wee afufem, 1956 g
TR fear T 2.

(1) g 2 (&) umg 3 o
(W) w4 5 () 5§
(14)
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(iv) Dividends are usually paid on :

. (@) Authorised capital
(b) Issued capital
(c) Called up capital
(d) Paid up capital
ey W A e S
(e1) stfepa Tt W
(=) Frifa ot ®
(=) e it W
(7) Tfed T R

(v) Loss on issue of deb
off in :
(a) 5 years
(b) 15 years
(c) 10 years

(d) Redemption period

S-221 (15)
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HHEG: HOA S H HI e afaien 5
It =fey

(1) 5 =i F

(&) 15 =& #

(§) 10 @st #

(2) viem smafy o
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